R7 =M BATH (R6WE) S vy WETHE GIOFREE) HRREL
TFE - AR - A5 Biks AL 8 s W &
ELHE T8 GERR B o 4)
1. ET
(BT
R =X 1. 000
PEA (1) HYE + m3 190. 000
Rt () HYE + m3 5. 000
MR (14) HYE A+ m3 12. 000
AL IE m 39. 500
BB IE i HYE A+ m3 164. 000
A (r—2X) HYE A+ m3 164. 000
B TE i HE + m3 164. 000
s mw Uk ¢ HE + m3 164. 000
(2)MxEmiE T
MEMIY Zb L L X 1. 000
a7 — MEEwERY Zhb L L m3 9. 200
BB IE i m3 9. 200
A (r—X) m3 9. 200
BB IE i m3 9. 200
syt ton 21. 600
(3) 1L AR T
GHTT R L X 1. 000
a7 U — ML (b7ziuAfERE) BB18-8-40 W/C=60% m3 74. 400
i e nt 69. 300
B L ot 62. 400
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R7=#m BAaTH (R6MHE) =Mty LELE HOFHEERE) HRERER
TFE - FER - AR Biks HAL 8 s W &
SR t=20cm nf 22. 000
RO s m3 4. 400
E AR Y e =L HfLE ¢ 65 EN 10. 000
K& 7 45— ¢ 65 &l 23. 000
BT fgﬁ/aci)&)%mmm BB18-8- " 18, 600
£V X VKA t=bcm m 52. 500
AT (0 S fﬁﬁg&%mmm e 17. 600
BT fHm 15. 900
a2y 7 J—rL UhAIED) BB18-8-40 W/C=60% T 1. 000
ar 7Y — ML (fREE) BB18-8-40 W/C=60% =50 1. 000
UTEANE 300B  600mm m 27. 000
LK BB18-8-40 W/C=60% E2V 1. 000
(4) 1M RkE T
i fef b T X 1. 000
Rl Ry b T %ﬁ%ﬁ A LEREAT i 171. 300
2. XREAMBET
(1) ARBRALER
HRERALER X 1. 000
syt AR m3 6. 400
BB IE i HRER m3 6. 400
3. kL
()RR L
BsE R T =X 1. 000
IRPAVVRE - 5T m 12. 400
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R7=M BETH (R6MHE) =4fii vy LETHE EOFHES) HEEREER
AR - AR - A0 Bk HLf7 Bk i &
A EEH A B A 40. 000
—fE T AR
1. Mo HrERERE
(1) oty
TR E20 1. 000
2. AR
(1) BIARLE
fRIASLER E20 1. 000
RSB — 3 E20 1. 000
3. Bk
(1) MR IRy B —X
R P T — 5K E20 1. 000
R BT T — 5K E20 1. 000
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